BF Rydet

Partavling 2019-05-03

Partavling, 6 bord, 12 par. Antal brickor: 18. Medel: 90.0.

Plac Par Poang % Namn MID Klubb
1 2 119.7 66.52  Inga Lill Kdmmerer - Kerstin Nystrém 59686 59180 BF Rydet
2 1 112.8 62.64  Gunnel Kareby Svensson - Eva Ekelund 59225 64162 BF Rydet
3 5 106.6 59.22  Tord Nystrom - Berit Lofgren 59179 36900 BF Rydet - Kungsbacka BS
4 10 89.3 49.62  Lotta Nilsen - Berit Netz 63215 27827 BF Rydet - Kungsbacka BS
5 8 88.4 49.13  Lennart Lofgren - Claes Ekelund 36901 65939 Kungsbacka BS - BF Rydet
6 12 88.0 48.86  Lennart Sjovall - Roland Ytterstrém 59058 65380 BF Rydet
7 4 86.4 48.00 Louise Sjovall - Bo Gunnar Jonsson 59057 65386 BF Rydet
8 9 84.3 46.85 Bengt Kilner - Christina Bergstrom 65387 64281 BF Rydet
9 11 77.2 42.88 Hakan Soderstrom - Lisbeth Erlandsson 59677 61668 BF Rydet
10 6 76.5 42.48  Jeanette Willstedt - Inga-Lill Thelin 63783 64070 Kungsbacka BS - BF Rydet
11 7 75.7 42.07  Bjorn Nilsen - Birgitta Carlsson 64209 59704 BF Rydet
12 3 75.1 41.72  Kerstin Andersson - Birgitta Coster 60437 55406 BF Rydet
1 Nord Ingen 2 Ost NS 3 Syd OV
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 12 44 S= &7 420 100 00| 6 8 2#S-1 +6 -100 100 00| 3 6 5¢ 0-1 v2 100 9.0 1.0
4 9 3NN= ¢2 400 70 30| 7 12 3¢ O+1 v2 -130 80 20| 7 9 24V-1 &4 100 9.0 1.0
10 1 3NN= ¢+6 400 70 30| 3 11 2NO+1 #3 -150 60 40(10 2 INV+5 v3 -240 6.0 4.0
6 8 2NN+2 +6 180 40 60| 2 5 2NO+2 43 -180 30 70 5 1 3NV= v3 -600 40 6.0
2 5 INN+2 ¢T 150 20 80|10 1 INO+3 #3 -180 30 7.0| 8 12 3NV +3 v8 -690 20 8.0
3 11 54S-3 v6 -150 0.0 100 4 9 3NO+1 v7 -430 0.0 10.0(11 4 54DS-4 &A -800 0.0 10.0
4 Vast Alla 5 Nord NS 6 Ost OV
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 1 1e N+2 v9 110 100 00|12 9 34 S+l a2 130 100 00| 5 11 34 N-2 A -100  10.0 0.0
3 6 4¢ N-1 *Q -100 70 30(10 3 4v0O-2 «A 100 80 20|12 9 240+1 &8 -110 80 20
8 12 24 N-1 vA -100 70 3.0 4 7 3v0O-1 *A 50 6.0 40| 4 7 340+1 43 -130 40 6.0
7 9 54S-2 v3 -200 30 70| 5 11 2v0O= s A -110 40 60| 8 1 440-= v2 -130 40 6.0
10 2 3NS-2 +6 -200 30 70| 8 1 3vO0O= a4 -140 20 80(10 3 440= vA -130 40 6.0
11 4 3NS-4 v3 -400 0.0 100| 6 2 24 S-2 v9 -200 0.0 100| 6 2 4vS-3 LN -150 0.0 10.0
7 Syd Alla 8 Vst Ingen 9 Nord OV
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 11 3NV-2 vA 200 10.0 00| 6 11 44DO-3 v2 500 100 00| 1 3 44 N+1 &6 450 9.0 1.0
7 3 24 V+2 *6 -170 80 20| 7 3 3NN+1 &2 430 80 20| 2 12 44 N+1 ¢A 450 9.0 1.0
1 12 3NV= v6 -600 40 60| 1 12 3vS-1 *6 -50 50 50(11 7 44 N= &6 420 6.0 4.0
5 8 3NV= v8 -600 40 6.0(10 4 4vS-1 *6 -50 50 50| 8 4 24 N+3 ¢A 200 40 6.0
9 2 3NV= +5 -600 40 60| 5 8 3#0= vT -110 1.0 90|10 5 44 N-1 v4 -50 20 8.0
10 4 4e V= vT -620 0.0 100 9 2 3#0= +4 -110 1.0 90| 6 9 3¢ S-2 v2 -100 0.0 10.0
10 Ost Alla 11 Syd Ingen 12 vVast NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 12 3405 «Q 500 100 00| 2 4 540+1 ¢A -420 6.0 40| 2 4 240+2 &) -170 9.0 1.0
11 7 44 0-4 v2 400 80 20| 8 11 540+1 +¢A -420 6.0 40|12 3 34 0+1 #J -170 9.0 1.0
10 5 140= oT -70 6.0 40| 9 5 540+1 4 -420 6.0 40| 8 11 44 O= »2 -420 6.0 4.0
8 4 26 O+1 &A -110 40 6.0[10 6 5#40+1 +¢A -420 60 40|10 6 3NO+1 4 -430 40 6.0
1 3 340= A -140 20 80|12 3 540+1 ¢Q -420 6.0 40 9 5 44 0+1 +¢K -450 20 8.0
6 9 4vy N-2 s A -200 0.0 100 7 1 64#0= ¢ A -920 0.0 100 7 1 44 0+2 +¢K -480 0.0 10.0
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 6 7NV-3 46 300 100 00|10 7 2NN= v7 120 100 00| 9 3 4v V-2 &5 100 10.0 0.0
4 12 3NV= &T -600 70 3.0 3 5 3¢0-2 «4 100 80 20| 2 7 3¢V+l *4 -130 7.0 3.0
10 7 3NV= a4 -600 70 3.0 8 2 INN= v3 90 6.0 40|10 8 4¢ V= a2 -130 7.0 3.0
3 5 3NV+1 LY -630 30 70| 1 6 24N-1 v3 -50 40 6.0|11 1 3¢ V+2 *4 -150 40 6.0
8 2 3NV+1 46 -630 30 70| 9 11 1vO= *7 -80 20 80| 4 6 3NV+1 v7 -430 20 80
9 11 3NO+2 2 -660 0.0 10.0| 4 12 2¢ O= a4 -90 0.0 100 5 12 3NO+2 &2 -460 0.0 10.0
16 Vast OV 17 Nord Ingen 18 Ost NS
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
5 12 3NS= v] 400 100 00| 5 7 3NN+1 vA 430 100 00| 1 4 INS= 2 90 9.0 1.0
2 7 34 S= ¢J 140 60 40| 1 4 44 N= vA 420 70 30| 2 11 INS= 2 90 9.0 1.0
4 6 24 S+1 *2 140 6.0 40|12 6 44 S= v] 420 70 30 5 7 1aN= &5 80 6.0 4.0
10 8 24 S+1 *2 140 6.0 40(10 9 4v0O-3 ¢4 150 40 60| 3 8 24 N-1 8 -100 20 80
11 1 INS+1 v4 120 20 80| 3 8 1¢ N+3 w2 130 20 80(10 9 INS-1 2 -100 20 80
9 3 24S= L X 110 0.0 100 2 11 3vO-2 «A 100 0.0 100(12 6 24 N-1 &5 -100 20 80
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